
SYM JET X 125 (2021) 

3405/E-X   att. 3407/E 

Windscreen fixation 

Insert one provided ø6.5 spacer in every 
windscreen hole 
Fix the screen by bolt M5 and plastic 
washer. 

1) Take off the original screen.  
2) Use original bushing, cable 

grommet and bolt to fix the 
provided brackets; beside RH 
brackets (fixing holes are faced 
inwards ) 

3) Add the well-nut in their room  
4) Tighten the hardware to secure 

the bracket to the vehicle 

Brackets RH/LH 1+1 
Well nut 4 
Bolt M5 4 

Plastic washer 4 

Spacer ø6.5 4 
Bolt M10x40 2 

Spring washer 4 
Mirror bracket 2 
Bushing 14x23 2 
Nut left thread  2 

Fitting rear view mirror (Left side) 

Fix the bracket on the handle original 
support by bolt M10x40, ø10 spring 
washer and bushing 14x23. 
Fix the mirror on the bracket by ø10 
spring washer and M10 left thread nut. 

 


